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Example 1:

A particle moving from 77 = 2i+ 5]+ 8k to =1
+ 10j + 8Kk, then the displacement is:

Solution:
(C)
DY =Y,— N

(B)4i + 6] . .
B)10i+5  pr= 2 tloy +8% ~(2145)+8k)
(03] 100 4loj +8F-9(-5] -8k
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Example 2

A particle moves in xy plane as x(t) = 2t (m)_and y(t)
= t* — 1 (m). The velocity of the particle af t=1 s/is:

Solution:
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Example 3

A

i (m/s) and

A

1

=2

At t=0, a car moves with velocity v,

1S:

=2

= 2j (m/s?). The velocity of the car at t

-3
101 A

accelerat

Solution

(B)
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Example 4:

R T e
e e s s S
L e e
LSOO -s«,g%.. e m&%‘*@ww» e s s s S o s e e e
B TR e R s L S s e
R e N e e i e e R e SUNGSY  ANEewss BN Y, Ry A N N S O NN B SRR S
Ene e s R ey B WO Re BIPRSReaE B R S B R I N s s RS EN N
B emE e . By 100 T110 VIO 1Y) ’*\@%«g&g@&w‘w‘%@%ﬁ%\w%
FEEE SIS NS RS SRS N S S et 8O Bt BREY B o ¢ A WEEEEN - FEREE My
e R R E RN R LY ER TRV RE 0 N
T s R R R G AL SR RS EER e
S R e e e g.%&%; S Simd el R R R S S S SRR sl e
L e e
R R RIS RS KRR NK RO % %%?:,z RS ) % S R R X R S ORI PRy ;‘Ijq%'_ SRR q,g,,,%‘,\qga. O S R SRR OO
L
e e g

A boy kicks a ball at an angle of 40° to the horizontal with
speed of 14.0 m/s. The time it takes to reach the highest

point 1s:

(C) 0.15s
D) 1.12s
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A boy kicks a ball at an angle of 40° to the horizontal with

speed of 14.0 m/s. The maximum height that the ball can
reach is: 2

(A) 9.87 m 1¥ 1in (Yo

BF 4.13 m -
(C) 15.33 m X178
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Example 6:

Referring to question 5, the horizontal range that the ball
can reach 1s:

f_; U Sin (26)

Solution:

D).
(A) 9.87 m
(B) 14.7 m P Y) sin(2XYo) ,

(C) 15.33 m 9.2

BF19.7 m
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A projectile is launched to achieve a maximum range of
140 m, the speed of the projectile must be:

é:‘z’Sb

(€)
(A) 17 m/s )6)74)( =70 m
(B) 27 m/s &

4ZF 37 m/s Max — -
(D) 45 m/s
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A toy car runs on a horizontal table with 3 m/s. The angle

it makes with the horizontal when it leaves the table is:

A) Zero

B) 45°
C) 60° = 2e/o

D) 90°
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A stone is thrown horizontally from the top of ~a tall
building. It follows a path that is:

D).
(A) circular
(B) two straight lines
(C) a straight line
parabolic
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Example 10:

| &8, - .
The velocity and acceleration of a body in a uniform
circular motion are:

Solution:
B)
(A) differed by 45°
perpendicular
C) differed by 1359
(D) parallel
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A car rounds a 20 m radius curve at 10 m/s. The magnitude
(D)
[q

of its accelerat
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Example 11
(A) zero
(B) 2 m/s?
(C) 4 m/s?
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(A) 225 m
(B) 144 m
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